Model Test Paper
INFORMATION TECHNOLOGY ENABLED SERVICES (THEORY)
(Level-4)
(Hindi and English Versions)
Time Allowed: 3 Hours Maximum Marks: 40
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Candidates are required to give their answers in their own words as for as practicable.
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Marks allotted to each question are indicated against it.
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Special instructions:
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While answering your questions, you must indicate on your answer-book the same question no. as appears in your question
paper.
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All questions are compulsory
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Which of the following is not proper type of SQL?

a) Float
b) Numeric
c) Decimal
d) Character
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by default how many worksheet in a calc workbook?
a) one
b) five
c) ten
d) three
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What not to do during an interview ?

a) Do write note

b) Letyour achievement speak for you

c) Answer questions fast

d) Ask question
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Which of the following behavior is/are part of active listening?
a) Make eye contact

b) Make sure that your posture is open and interested
c) Asking for clarification

d) All of the above
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Which one of is not a feature of python language?

a) Interpreted language

b) Portable

c) High level language

d) Caseinsensitive
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Who developed python language?

a) Wick van rossum

b) Rasmus lerdorf

¢) Guido van rossum

d) Niene stom
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@) .python
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Which of the following is the correct extension of python file?
a) .python

b) .pl

c) .py

d) .p
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Answer the following ten questions:
Ufaed feraf= o1 ufuiid Bifo |
Define active listening.
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Write any two barriers become entrepreneur.
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Define flat file database and network database
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Explain primary key.
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Explain the types of SQL.
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Explain any two characteristics of a good software.
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Explain artificial intelligence.
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What is cyber crime?
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Explain dump method in python.
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Write the introduction of exception handling in python.
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Write the steps to apply standard filter in spreadsheet.
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Answer the following four questions
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What is the difference between MAX and MIN function in calc?
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Explain PUSH and POP operation.
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Describe the limitations of file system.

T dR SoHINTT H iterative Hied & fagizaraf 3R WIfET b7 qui B3 |

Explain advantages and disadvantages of iterative model in software engineering?
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Why is active listening important in active listening?

(10X2=20)

(4X3=12)



Class 12" Syllabus & Marks Distribution for Examination (IT/ITES)

PART — A (Employability Skill) (10 Marks)
UNIT NO. UNIT NAME MARKS ASSIGNED
Unit-1 Communication Skills-1V 03
Unit -2 Self Management Skills-1V 03
Unit-3 Basic ICT Skills-1V 02
Unit-4 Entrepreneurial Skills-1V 01
Unit -5 Green Skills-1V 01
TOTAL 10
PART-B (Vocational Skills) (30 Marks )
UNIT NO. UNIT NAME MARKS ASSIGNED
Unit-1 RDBMS-MY SQL 08
Unit -2 Advance Python Programming 08
Unit-3 Software engineering 11
Unit-4 Emerging trends and social impact 03
TOTAL 30

GRAND TOTAL(PART-A+PARTB)=10+30= 40
Marks Distribution

Q1 -8 MCQ Question One Marks Each 8 Marks
Q2 — 11 Short Questions Two Marks Each (Attempt any ten Questions) 20 Marks
Q3 — 5 Medium Questions Three Marks Each (Attempt any four Questions) 12 Marks

Total 40 Marks

Vinod kumar
Vocational trainer (ITES)
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Class 12" BLUE PRINT (ITES)

SR. | PART | UNIT UNIT NAME 1 MARK 2 MARK 3 MARK TOTAL
NO NO QUESTIONS | QUESTIONS | QUESTIONS | MARKS
1 A 1 Communication | = --------- | mmeeeeee- 03 03
Skills-1V
2 A 2 Self Management 01 02 | - 03
Skill-1VvV
3 A 3 Basic ICT Skills-IV | --------- 02 | - 02
4 A 4 Entrepreneurial 01 | e | e 01
Skills-1V
5 A 5 Green Skills-1V O e 01
TOTAL 03 04 03 10
SR. | PART | UNIT UNIT NAME 1 MARK 2 MARK 3 MARK TOTAL
NO NO QUESTIONS | QUESTIONS | QUESTIONS | MARKS
1 B 1 RDBMS-MY SQL 1 2+2=4 3 08
2 B 2 Advance Python 1 2+2=4 3 08
Programming
3 B 3 Software 1+1=2 2+2+2=6 3 11
engineering
4 B 4 Emerging trends and 1 A 03
social impact
TOTAL 05 16 09 30
GRAND TOTAL(PART-A+PARTB)=10+30= 40
Marks Distribution
Q1 - 8 MCQ Question One Marks Each 8 Marks
Q2 — 11 Short Questions Two Marks Each (Attempt any ten Questions) 20 Marks
Q3 — 5 Medium Questions Three Marks Each (Attempt any four Questions) 12 Marks
Total 40 Marks




